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BEARINGS  3 How can you tell :-

__    __    __    __  /   __    __    __   /  __    __    __   /  __    __    __   /  __    __  /  

29   110  140   70      320   212    20     130   20    70     212   20   225    212   170

  __    __    __    __    __    __    __    __    __  /  __    __    __   
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[image: image2.emf]To find an angle given the bearing

BEARINGS  2
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There are three kinds of people :-

115  207  35   220  40 /  138   207  35  /  32  134   44  /  32   35  320   44   115 /

134   44   80 / 115  207   35   220  40  / 138  207   35  /   32   134   44  ' 115


